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QUESTION 1

What are the three business drivers for cloud computing? (Choose three.)
A. better resource utilization

B. enterprise agility

C. higher customer support quality

D. ease of administration

E. elastic scalability

Correct Answer: ADE

QUESTION 2

You plan to deploy your Coherence application to a new production environment. You want to ensure that the new
environment supports multicast, and that all of the machines are connected to the same physical switch for optimal
performance. What two tools will help confirm that the new environment satisfies both criteria? (Choose two.)

A. Coherence MulticastTest

B. Coherence DatagramTest

C. Coherence Console

D. Coherence CohQL Command-Line

Correct Answer: AD

http://www.oracle.com/technetwork/middleware/coherence/learnmore/oracle-coherence- 12c-deployment3049521.pdf

QUESTION 3

Which statement about JRockit Discovery Protocol (JDP) is true?

A. JDP enables network auto discovery of JVMs.

B. JDP is a subset of HTTP.

C. JDP can be used by application to exchange serialized data between JVMs.
D. JDP was initially introduced in the HotSpot VM 1.5.

Correct Answer: A

QUESTION 4
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Which configuration can be used for enabling Coherence as an L2 Cache?

A. @Entity@Cachelnterceptor (CoherenceReadCustomizer.class)public class Employee implements Serializable
B. @Entity@Customizer(CoherenceReadCustomizer.class)public class Employee implements Serializable

C. @Entity@Customizer(CoherenceReadWriteCustomizer.class)public class Employee implements Serializable
D. @Entity@Cachelnterceptor (Coherencelnterceptor.class)public class Employee implements Serializable

Correct Answer: D

QUESTION 5

Which plug-in does Oracle Traffic Director require you to install to load balance HTTP requests to WebLogic Server?
A. mod_wils

B. mod_weblogic

C. mod_wl_ohs

D. No plug_in is required

E. mod_ohs_wl

Correct Answer: C
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